Chassis Assembly

Electronic
, Speed Control

,N \

V0=

&
N
v

L=
6724 —

See Parts List for a complete

Specifications on this page are subject to change without notice. Every attempt has been made to ensure

REV 240521-R02

listing of optional accessories.

the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



Ay & A%

7

Driveshaft Assembly

Rear Driveshaft Assembly

Driveshafts
Front Driveshaft Assembly
Available fully assembled as part #9052

Available fully assembled as part #9051

2535
4x10 CCS

Modular Assembly
v

dasecs <% |

/ / ’/ ﬁ

3938
4x14 BCS

Specifications on this page are subject to change without notice.

3x15BCS
Every attempt has been made to ensure the accuracy of this drawing, however Traxxas cannot
be held responsible for typographical or other errors. See Parts List for a complete listing of optional accessories.

REV 240521-R02



B e e
&= /
9037-GRAY -

3647
NL M4x0.7 Flanged Soaraont 5539
1747A opt. 9037R opt. 67426 opt.
17476 opt. 9037Topt. 364X o,  6742Ropt. 2535
1747P opt. 9037Xopt.  3x12SS X 6742X opt. 4x10 CCS
1747R opt. 51511;7’\ s 0032-GRAY AN 5525 2579
74T opt. . opt. | 2580 §o3 o 3x15 BCS

"% 9032G opt. 9031

€ 9032R opt. 36436 opt 3037
9080~ | - S0sat opt 3643R opt 4x1280S -

5120 opt.
12x18x4 BB

Front Differential Assembly

6788 opt.

R N4
320 BCS >>
7

3642X < < 9042Xopt.
LY

1288 .

3655R

3655A opt.
3655G opt.
3655L opt.
3655P opt.
3655T opt.

9042

52mm

3938
4x14 BCS

J

|
Y

2742X

REV 240521-R02
See Parts List for a complete
listing of optional accessories.

9032X opt.

9042X opt.
6834 opt.

2579'ﬁ’ﬁﬁ r )

3x15BCS!

- 5379X o - !
- o — 5379R opt. i o2
) 6788 opt.

/// \b— SN _ 5120 \\

ot N 2 { > ‘ ! : 3655R -7 Bloopt
"7 a3 ;\ sogt | | o0a2 ~O78Bopt  oerny ot o~ arse (12094835~
68236 opt. D! 6788 opts | 9042X opt. & ll o
6823R opt. \ | | 6834 opt. 3655L opt. @\
257 52mm 3655P opt

4x10 CCS A
2542

4x12 CCS

51
10x15x4 BB

5381\

6788 opt.’

5379X
5379R opt.

T,

3643G opt.

5117

I
| {
3x6x.05 MW
1552 9032 opt
’ - 43(\ e 1562 942K opt ‘ doc gp{
e op
| 6845X 5x8BB U _—346x.05 MW 9032T opt.
6845A opt. 3642X 9032X opt S

| S 5114 312 5S .
’ 68456 opt. 548 BB 9037-GRAY |

| 6845R opt. 3967 J 9037 opt, | 2281
| 6845T opt.\L 3x10 €SS SHER 9037G opt, | 6X9-5X05TW
I B 2 9037R opt.
K % 0 A 90377 opt.

; e \ P 9037X opt. :

R ) 6845x
% 9
! 3x15 BCS /
<. TNUsi14 -7

| -

J gffg ccs,  5x8BB 6845X 25

|

Specifications on this page are subject to change without notice. Every
attempt has been made to ensure the accuracy of this drawing; however,
Traxxas cannot be held responsible for typographical or other errors.

9038 opt.

9038G opt.
9038R opt.
9038T opt.
038X

I
I
‘ 9038-GRAY
I
I

o577

9072

9072
9072-GRAY opt.

NL M4x0.7 Flanged
1747A opt.

1747G opt.
1747P opt.
1747R opt.

SRASK 1747T opt.

Install with rim facing upward.

**Requires 5117 or 5117A ball bearing for installation.

BRUSHLESS

Front Assembly



Shock Assembly

2362 ‘E
BRUSHLESS

9039-GRAY
9039 opt. 3767

Rear Assembly S0yt %7

3x10 BCS =
9039T opt. 3757X =2
i / o -
opt.
3757R ot
3757P opt. =
3647
NL M4x0.7 Flanged i
1747A opt. 30306 gbt
17476 opt. 9050R opt.
1747P opt. 9050T opt.
1747R opt. 9050X opt.
1747T opt., '

3x15 BCS/J/ - | 2742X
/ ] | 3x30 BCS
T N
‘ ‘ 2 Lo 9072 .
;3 L 9072-GRAY opt. Rear Differential Assembly
: | 6789 opt.

6879
6879R op

6789 opt.T 5381 L
T, | 6789 opt. | 6823G opt.
8x16x5 BB / I 9042 | 6823R opt.
6789 opt. ! 9042X opt.
T 6834 opt. } 9072
52mm | 9072-GRAY opt.
\ 6792 opt.
51
10x15x4 BB 2579
6789 opt.
p! : 315 BC " 9072
9072-GRAY opt.
6792 opt.
/ ‘J\‘
Ax @ gggg-GRAY 9050R opt. ‘
S, opt.  9050T opt. £
&(‘ 90506 opt. 9050X opt. > Wiy @
,/)\;} ; 3981 o >
; 649.5%0.5 TW A
BNy s
i < 2 3647
g /- 8> 9069 e NL M4x0.7 Flanged
= » “, o 1747A opt.
) N {3 5117 N 1747G opt.
| 2552 3655R 6x12x4 BB 1747P opt.
3x12 CCS 3655A opt. 1747R opt.
; ggggf Optt 1747T opt.
opt.
£ ! 3655P opt. 9042X opt.
2551 3655T opt.
3x10 CCS
3937
4x12 BCS
*Requires 5117 or 5117A ball bearing for installation.
= Z A = Q ‘ REV 240521-R02
= v = See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure

listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.




2575

? 3x6 BCS

BRUSHLESS

Transmission Assembly

6890 3x8 CCS
6890R opt.
6890X opt.

3.0 NL 5576 o <
3x8 BCS -

@
[]— 2577
3x10 BCS
/

6765 -7 6780A opt.
67656 opt. W 6781 opt
opt. - ®)
6765A opt. o730 i
6767 opt. 670 opt \
" 6781 opt. 9081
- 2593
_ " 6888 2-5X\10 C& - g;ggf g:)t
- 4368 '
P A Q, 6781 opt.

056X 54T
6842X 507 opt.

6888 / "
® e \

§ 5119A
e 10x15x4 BB
- 9081
6780 opt.
6780A opt.
6781 opt.

2523
2.5x10 CCS

2 ECCAS " | REV 240521-R02
S'eei Parts L'St. Bl Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



